| Efficiency vs Dxy |
> 05

dx

S
o
»
)]
|

......................................................................

o
N
|

efficiency v

e T e e

o
[
[

0.25

Y05 NS SRS ML A

O J..\Q 1.1 11 + 1.1 1 1 + 1111 1 , 1 ! 111 1 + 1.1 1 1 + 111 1
= r : : : : :
0] r : : : : :
o B : : : : :
i SRR AARRELRLD FRRRREE I SRN LR R LR AR ALRELELD
095 i i i
0

510 15 20
TP dxy (cm)

—=— DQM_origmal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

0.2 —+— DQM_pixelCPETemplateCutChiSquare5Test_step2_tthar-phasel-newgeom
N . ; T T T
> : : :

9 018t
> : : : : :
0B
(&] - . . . . N

E0.14 N Frrereree frorereeeee P
o : : : : :

e | s
TR N N S
0,085 |t T

0.06

0.04

0.02

E ¢l |* : +|
x| |

P

- 3 :-1-
¢ 1”“ h
4]

=
LI B
.
%>
<0
re

™ 20 -10 O 10 20 30
TP dz (cm)




	Contents
	Page 1


